
Symmetrie von gebrochenrationalen Funktionen 

 

Bestimme die Symmetrie bzgl. der y – 
Achse bzw. des Ursprungs 

rechnerisch 

Lösung 

    
1) 

f(x) = 
𝑥³

4−2𝑥²
 

Punktsymmetrie 

f(-x) = 
(−𝑥)³

4−2(−𝑥)²
=  

−𝑥³

4−2𝑥²
 ≠ f(x) 

–f(x) = 
−𝑥³

4−2𝑥²
 = f(-x) 

   
2) 

f(x) = 
5− 𝑥²

𝑥2−12
 

Achsensymmetrie 

f(-x) = 
5−(−𝑥)²

(−𝑥)2−12 
=

5−𝑥²

𝑥2−12
= 𝑓(𝑥) 

   
3) 

f(x) = 
𝑥3−4𝑥2+2𝑥

𝑥−5
 

keine 

f(-x) = 
(−𝑥)3−4(−𝑥)2+2(−𝑥)

(−𝑥)−5
 = 

−𝑥3−4𝑥2−2𝑥

−𝑥−5
 ≠ f(x) 

–f(x) = 
−𝑥3+4𝑥2−2𝑥

𝑥−5
 ≠ f(-x) 

   
4) f(x) = 

3𝑥

(𝑥−3)²
 keine 

f(-x) = 
3(−𝑥)

(−𝑥−3)²
=  

−3𝑥

(−𝑥−3)²
 ≠ f(x) 

–f(x) = 
−3𝑥

(𝑥−3)²
 ≠ f(-x) 

   
5) f(x) = 

𝑥−5

𝑥4−6
 Keine 

f(-x) = 
(−𝑥)−5

(−𝑥)4−6
=  

−𝑥−5

𝑥4−6
 ≠ f(x) 

–f(x) = 
−𝑥+5

𝑥4−6
 ≠ f(-x) 

   
6) f(x) = 

7

3+6𝑥6
 Achsensymmetrie 

f(-x) = 
7

3+6(−𝑥)6 
=  

7

3+6𝑥6
= 𝑓(𝑥) 

   
7) f(x) = 

13

(𝑥+4)²
 Keine 

f(-x) = 
13

(−𝑥+4)²
 ≠ f(x) 

–f(x) = 
-13

(𝑥+4)²
 ≠ f(–x) 

   
8) 

f(x) = 
𝑥5−9

7𝑥
 

keine 

f(-x) = 
(–x)5 – 9

7 ∙ (−𝑥)
 =  

–x5 – 9

–7𝑥
  ≠ f(x) 

–f(x) = 
–x5 + 9

7x
 ≠ f(–x) 
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